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The product of the LCM and HCF of two numbersis 24. The sum of two humbers
is 10. Find the numbers.
a)5and>5 b)6 and 4 c)8and2 d)9and1

The HCF of 0.15, 0.75, 0.6 is
a) 0.005 b) 0.05 c)0.5 d) 0.15

If P(A) = 0.2, P(B) = 0.5 with Aand B are independent events, then P(An.B') =
a)o b) 0.1 c)0.2 d) 05

The number of permutations of letters in the word “APPLE" is
a) 120 b) 60 c)5 d)1

The relationship between permutation and cembination is
a)nC,=nP, xr!

c) nC, = nP, x (r!)? d)nP, = nC, x r!

The variations intemperatures from 0°C to 100°C with respect to time of two
liquids P, Q are shown in the graph.
Which.one of the following statements is correct?

100°C ===

emperature

a) At no point the time during heating did the two liquids have the same
temperature

b) P attained temperature of 100°C faster than Q

c) Q attained temperature of 100°C faster than P

d) During heating, liquid P remained hotter than liquid Q throughout

£ (35 x35)+ (15 x15) <
252+ 102
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7. The value o




a) 1700 b) 725 c) 80 d) 2

Find the wrong number in the series 0, 7, 26, 65, 124
a)7 b) 26 c) 65 d) 124

In how many ways can a group of 5 women and 2 men be made out of a total of 6
men and 6 women?
a) 30 b) 60 c) 90 d) 120

. 53 . 5
The sum of two numbers is T of the first number. The second number is what

percent of the first?
a)3% b) 6% c)12% d) 50%

Two dice are thrown simultaneously. What is the probability of getting a sum
greater than 3 is?
1 1 5 11

By selling an article for Rs.100, a man gains Rs.20. Then his gain percentage is
a) 20% b) 21% c) 23% d) 25%

LetR={(1, 1), (1, 2), (2, 3), (2, 2),43; 3)]} be a relation defined on aset A={1, 2, 3).
Then which of the following.is true?

a) Ris reflexive b) R is symmetric

c) Ris transitive d) Ris an equivalence relation

A man reads-z- of a book on a day and %ofthe remainder, on the second day. If

the number of pages still unread are 40, how many pages did the book contain?
a) 240 b) 310 c) 320 d) 415

ROGHAUT QM LUbHHDSHDH6 g LOLMBI@ USHMIGM6T (IPH60 HIeTsulDd, s psiTer
4

LIc &I 6TT 60T = IDLBI& LibHmIGmeT @TemiLTaldl HT6TeID LIghsImrT. e

LSBT OIHEGID UbEmIG6T T semenlhbensd 40 6Ial60, DS HEHSHH 60

9 gGileN LIHHMIGB6TI6H  6lanimenllbend WTH?
a) 240 b) 310 c) 320 d) 415

27" = 4"*? then find the value of x
a)x=13 b)x=10 c)x=9 d)x=7
2B 2 2 2 flsy X6t oAHIIL e

a)x=13 b)x=10 c)x=9 d)x=7
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IfA=1+§+i+éandB=1+%thenBexceedsAby

1 1 3

A=1+ % + % + % wmnpw B=1+ % sleollsl B-wimenighl A-g0db I I196VILD  6l61I6NSTI6Y

DIH&HID?7
1

a) b) < c)

3
8 d3

1
4
The difference between 90% of a number and 72% of a number is 256 then 54%
of that numberis

a) 768 b) 652 c) 1024 d) 512

@it stewiewllstt 90% mmId 165 steviemisnt 72% yalweuppllan sllbsmlwrsd 256
cTailed I8 ereutemnedt 54% eleiiigsl 6TsbTen ?

a) 768 b) 652 c) 1024 d) 512

How many rectangles are there in the given figure?

a) 24 b) 19 ¢) 22 d) 14
HEBTEMID LLHH60 2 6o Gorss blFsialsnisaien elemiendamaed WTgHl?

a) 24 b) 19 c) 22 d) 14

If m and n are whole numbers such that m" = 121. Then find (m—-1)"**

a) 800 b) 1000 c) 900 d) 1020

M OBBID N (1pap eemsesT wimh m" =121 aaflsd (m—1)"* a1 wH sTem
a) 800 b) 1000 c) 900 d) 1020

Deepa and Arun can do a piece of work in 20 days and 30 days respectively. They
work together and Deepa leaves 5 days before the work is finished. Arun finished
the remaining work alone. In how many days is the total work finished?

a) 15 days b) 18 days c) 12 days d) 20 days

HUT MWD DyHmeodt HHIBWT @m Causmevemus (pemmCu 20 ®BIL &6 HEMID 30
BT G660 GFUIm! (LT, DIeNTH6T BmaImD Blenambdml Geusmev GlaFuiwl
OHTLRIGHImaT. HUT Gl (IPYIHBE 5 HTLH6IT (LPHTeNHTd HiaTnl
ll(pAHBIT. SymemT Helwimd Gauensy GlFUIH DHH Calshevenul (1LPIpHhaImTT.
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glamed Dibhd Ceuemsv aIhHHeman BHTL H6rlsd (LPReNsmLULLD?
a) 15 pmLseit b) 18 mi_ssit C) 12 ml_&bs6it d) 20 BIL_&eit

Sixty metres of a uniform wire weighs 80 kg. What will 141 metres of the same
wire weigh?

a)172 kg b) 168 kg c) 182 kg d) 188 kg

60 W LT memapsiten Fymen sibUlullenr etemL 80 &l.&. arefien, 141 L
mem(IpeiTen, 6% SHbLTuler elemL  elsleusTa]?

a)172 kg b) 168 kg c) 182 kg d) 188 kg

The radius of a circular park is 63 m. Find the cost of fencing it at Rs.12 per meter
a) Rs.4,752 b) Rs.7,452 c) Rs.4,572 d) Rs.4,672

R0 ' L algey UBGETHT b 63 18 4@, @@ W LmHE@E .12 ofsb,
ainxamaF &Bnsl Geuedl GuUTL SHID GlFeve] sleiar?

a)Rs.4,752 b) Rs.7,452 c)Rs.4,572 d) Rs.4,672

o Z 3
HCFofa™ " ,a™" % am "’
a)am*® b)a™* c)a™ d)a
m+1 m+2 m

a™ha" % a" P sdlweBmBater 18.6uT.s sTE?
a)a"'*® b)a™ " clag d)a

A sum of money quadruples itself in 24 years under simple interest scheme then
rate of interest is

a)12.3% b) 12.5% c) 10% d) 22%

@m OsTemsd 24 syeibssisy  saflal 19 alsdhaled HI6iE 1Dl BISTHMBEH 6T6T60
Il g efslD elelclene]?

a)12.3% b) 12.5% c) 10% d) 22%

Ratio of surface area of a full sphere to the total surface area of a hemisphere
having same radius is
a)4:3 b)E:2 c)1 2 d2:1

373
@67 oy opne OsTewiL (upsd CasmendHdlsi UBLLFUILIBEGLD,
DMISCHTeNIH S0 GIoTHSU LBUIUTIIBE&ID 2 _6en a)ll&iHLD
a)a:3 b)-:;:g o M d2:1

: . ; 25
Find the value of x in the equation |1 4+ —= ; e
144 12

a)x=0 b) x=1 c)x=2 d)x=3

25 X . . .. . - .
1+ - 1+EGIGOT[D FIOGHILITLIg6D X -601 0G| SHT6WT.

a)x=0 b) x=1 c)x=2 d)x=3
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In, 1998, the production of tea is 1584 million kgs. Which is 20% more than that
in 19917 Find the production of tea in 1991.

a) 1270 m kgs b) 1320 m kgs c) 1410 m kgs d) 1520 m kgs
1998-10 semi(h CxHulemen 2 MmugsHds 1584 Wlevedwer a5lGsomaigmid @D, Bl
1991-ib oewih Cxpulemev 2 MusHHenuwl ol 20% SHSID DHLGID. 6Tmled 1991-1D
aip 2 mushd GeFuliwiu’ L Gsulleneoulsht o6 6T6ien?

a) 1270 m kgs b) 1320 m kgs c) 1410 m kgs d) 1520 m kgs

If 20 men can build a wall 112 meters longin 6 days. What length of a similar wall
can be built by 25 men in 3 days?

a) 40 meters b) 50 meters c) 60 meters d) 70 meters

20 ) HsiT 6 BIL&6IMEL 112 15 Hempsiien FeusnD] HLU 1Y (IPQHHT6D 25 I &6l
3 BT &H6MG0 6TEURIGTE)] MeNF &ieuenydh &L lg (LPlglilmT?

a) 40 B Lit b) 50 81" Lir c) 60 WL LiT d) 70 80 Lir

The diagonal of a square is 20 cm. Find its perimeter.

a) 202 cm b) 54 v/2cm c) 40v2cm d) 56 V2 cm
QM FRTHIH cpenevalll LD 20 GF.18 slalled H6N. HBMETT6Y S0

a) 20v2 Gz.18 b) 542 Qa1 c)40v2 Q.8 d) 56 V2 Gz.18

A man is walking at a speed of 10 km per hour. After every kilometer, he takes
rest for 5 min. How much time will'be take to cover a distance of 5 km?

a) 35 min b) 50 min €) 55 min d) 40 min

@MmeuT wswlldaE 107 a8 Basssdlsv mLbHA OFsvasmrT. a@aublaurm &Gsor
BlLeny sLbsUEH 5 Bl mser guiey shHSIBTT. semsd DeuT 5 &b
HNTHMTy cleiaueTe) CHTHaHe0 SHLLILIMT?

a) 35 BhilL migmeit b) 50 Bliflmiser  c) 55 Bl mismai d) 40 BilL_sismsit

When two dice are thrown what is the probability of getting a doublet (same
number on both dice)?
a) — b) — ¢} — d) =

36 13 12 6
@yemi(h uBL HeiT efFUILIHIDCLTEHI @i LSmLHemeuld @6F slemr allip
bl LD & eb6)
a) — b) — c) = d) =

36 13 12 6

What should come in place of the question markin the following series?

2,6,14, 30, ?, 126

a)62 b) 72 c) 63 d) 73

Leteuid stemr biaTl flsd Bamamaids @Ml @ Salsd auy Gaisaigul eleor 61817
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2,6,14,30,?, 126
a) 62 b) 72

The value of x in

a)2:x:x:32is

a)64 b) 34 c) 30 d)s

Lol LUIIMMDIST X-601 DB 6T6bmeT 7

a)2:x:x:32is

a) 64 b) 34 c) 30 d)8

The total area of the 11 squares whose sides arel1 cm,2cm, 3cm, ....11cm
respectively is

a) 66 b) 206 c) 506 d) 516

The sum of all even nhumbers between 1 and 101 is
b) 2550 c) 3151 d)5151

c) % d)3

The ratio of the cost price and the.selling price is 5 : 6. Then the profit percent is

a) 10% b) 20% c) 25% d) 30%

The product of the LCM and HCF of two numbersis 24. The sum of two humbers
is 10.
a)5and’5 b) 6 and 4 c)8and2 d)9and1
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